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SgUGl ! IR FM

AMH:

ox? — x+ 2% + 4(9)(3 - x2)

47 — 2% + 30 — 465 — 3x)

Ax + 6x° + 9x — 4(9x° + 2x7)

4(5x + xz) +4x% + 8% + 9x

7 + 8x + 207 — 4(2%° — 3x)

f&iep:

3(x2 — 7x2) — X+ 4 -3

8x° — 3x— 5x+ 2(4x3 — 8x3)

30 — 2x%) — 9% + 9x° + 3x

0x” — 4x> — 6x7 — 8x + 5x°

Sx% — X0 — 2% — 4(6)(2 —4x)
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= il = 6 o o—o

SgUGl ! IR FM

AMH:

0% — x+2x% + 4(9x3 —xz)
36x° + 7% —x

43 — 2% + X3 — 4(6x% — 3x)
5% — 26X + 12x

4x + 6x% + 9x — 4(9x° + 2x%)
—36x° — 2% + 13x

4(5x + x2) + 4x* + 8% + 9x
16x% + 29x

7 + 8+ 20 — 4(2)(2 —3x)
7% — 6% + 20x

f&iep:

302 = Tx?) — X2 + 4 — 3
X — 1922

8x% — 3x — 5x + 2(4x° — 8&x%°)
—8x> + 8¢ — 8«

30 = 20%) — 9 + 9x° + 3x
—3%° + 3x

%% — 4x° — 6% — 8x + 5x°
¥ + 3% — 8

5 — X% — 2% — 4(6x% — 4x)
—22x* + 16x
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